AP Human Geography

Unit VI

Discussion Questions

 

1. What were Weber’s controlling assumptions in his theory of plant location?

A. What “distortions” did he recognize that might alter the locational decision?

 

2. What is the difference between fixed and variable costs?

A. Which of the two is of interest in the plant locational decision?

B. What kinds of variable costs are generally reckoned as most important in locational theory?

 

3. Raw materials, power, labor, market, and transportation are “factors of location” usually considered important in industrial placement decisions. Summarize the role of each, and cite examples of where each could be decisive in a firm’s location.

 

4. What have been the benefits and costs to Canada of its free trade agreement with the US?

A. How are the benefits and costs to Canada likely to change with the implementation of NAFTA?

 

5. Foreign cars account for only ¼ of the sales in the mid-western US, compared to ½  in California and other West Coast states.  What factors might account for this regional difference?

 

6. Imagine a large triangle on a map of Russia – with one point near Moscow, one point in the Ural Mountains, and one point in Central Asia.  What are the principal economic assets of these three regions at each side of the triangle?

A. How do the distributions of markets, resources, and surplus labor vary within Russia?

 

7. Rural settlement patterns along the U.S. East Coast were influenced by migration during the Colonial era.  To what extent do distinctive rural settlement patterns elsewhere in the United States result from international or internal migration?

 

8. Compare (write down) the CBDs of Toronto and Detroit.  What might account for differences?

 

9. What evidence can you find in your community of economic ties to world cities located 

elsewhere in North America, Western Europe, or Japan.
